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1. Which of the following property is false for a Giffen good when its price 
increase? 

A) The substitution effect is negative. 

B) The income effect is positive. 

C) The substitution effect dominates the income effect. 

D) The income effect dominates the substitution effect. 

2. If tax is less than government spending plus transfer, then 

A) there is positive saving. 

B) there is a balanced budget. 

C) there is a budget surplus. 

D) there is a public dissaving. 

3. Which of the following result is false for a perfectively competitive market 
with identical finns? 

A) Each firm earns zero profit in the long run. 

B) The long run market supply curve is upward sloping 

C) Each firm produces at its minimum efficient scale in the long run. 

D) In the long run, the supply adjusts to the change from the demand via the 

change in the number of the firm while the output level of each firm 

remains the same. 
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4. Which of the following description is true for a monopolist's supply curve? 

A) The monopolist's entire marginal cost curve. 

B) The monopolist's marginal cost curve above the minimum of its average 

variable cost curve. 

C) The monopolist's marginal cost curve above the minimum of its average 

total cost curve. 

D) There is no supply curve for a monopolist. 

1. ts j l.It~ tf 00 IP- *t.liJt, ( winner's curse in auction) 

2. ~14: 1- fJ f-11{ ( purchasing power parity) 

3. -% :{f M ( inferior good) 

4. i \~ tf .fl.Ai ( money neutrality) 

5. 1! !.'~ #- f/J 1# #;- ab .tit ( backward-bending labor supply curve ) 

6. 0l .i.3if@.5l:Fi1f-& ( the theory of endogenous growth) 
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3. In AD-AS model, the short-rung aggregate supply curve is upward sloping. 
Provide at least two different theory explaining the property of upward 
sloping. In addition, provide a possible cause of a stagflation (1fit.!fH1-i! I 
n~Mz), and using graph(s) to explain the long run adjustment process with 

and without government interventions. ( 15 7t) 


